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(a) %F@qny AU =g B GrE (Y ) ~ var(Y) ¢
®>“ﬁ%ﬁ*ﬁPW>auw} Fllila 2 s 2
(c) %?"/L"(b)ﬂl P(Y > a)pogss o
(5i47]
X Eyn=150 ~ p=0.6f4= rEJﬁEE[’EHE(X)an pP=90 - Var(X)znx px(l— p)=36 .
Y ﬁg‘g X E PRI [~ AR JTE(Y)=90 ~ var(Y)=36 -
(@)
E(Y)=90 ~ oy = /var(Y)=6
(b)
P(X>95)=P(Y>945) = a=9%45

(©)

=90 6=6 P(Y>=94.5) = 0.2266
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(@) = SYEP] 0 E= b W R

(b) iyum SERCAIN (T % N

(c) T SVEHT] A 2 B+ oy -
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A=14725568 2,=05 */558 0 =15 ~3 38> A, =25 ~/5 34
(a)
P(X21)=1-P(X=0)=1-¢""=

(b)
P(X=0)=e""=
©
2.5 e’
P(X =2)= S TR
(a)=0.3935 (b) = 0.2231 (c) = 0.2565
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0.25+ 0.5~ 0.25 = T :
(@) AR 6 [ BAFT - TFIE) 3 [ pAFT TBpORG ;
(b) FILFITE 6 [ BLE! o 5% ¥R T 4R~ T R IR -
(oi#r]
(a)
ST T EEREEAY I n=6 ~ p=0.25
P(X =3)=Clp’(1-p)"" =
(b)
= IfSifE s n=6 ~ p,=0.25p,=0.5p; =025

6' 222
P(XlzzaX2:29X3=2):mpl pyp; =

n==6 pl=0.25 p2=10.5 p3=10.25
x=73 (a)=0.1318
x1=2 x2=12 x3=2 (b)=0.0879
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Let random variables X, Y have the joint probability mass function

fuy) =2 x=12, y=1.2

(a) Find the marginal probability mass function f (X) .
(b) Find the conditional probability P(y=2|x=1).

(53]
A
y=12
X+2y X+2x1 X+2x2
x=1,2 f(x,y)= f(x)=
(x.Y) 18 () 18 i 18
1+2y 2+2y
f(y)=—"+——
) 18 18
Y
x\y 1 2 f(x)
1 3/18 5/18 8/18
2 4/18 6/18 10/18
f(y) 718 11/18 1
(a)
f(X)_x+2><1+x+2><2_2x+6
18 18 18
(b)
5/18 5
Ply=2|x=1)=——-==
(y | ) 8/18 8
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